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1 (a) "A sound costing system must place the same emphasis on cost control as

on cost ascertainment." Comment on the statement. (6)

(b) "Costs may be classified in a variety ofways according to their nature and

the information needs of management." Explain and discuss this statement
' giving examples of classification required for different purposes. (I2)

OR

(a) State and explain the main differences between cost accounting and financial '
accounting. (6)

(b) The following details have been extracted from the cost records of XyZ
Ltd.:

Particulars

Stock of raw materials on lanuary l, 2023 I,50,000

Stock of raw materials on January 31,2023 1,80,000

Direct wages 80,000

Indirect wages . 6,000

Work-in-progress January 1, 2023 56,000

Work-in-progress January 3l , 2023 70,000

Purchase of raw materials 1,60,000

Factory rent, rates and power 30,000

Depreciation ofplant and machinery 7,000

Royalty payments (on froduction) 25,000

{

Expenses incurred on quality check activities 10,000
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OfIice and Administrative expenses:

Production related

Ceneral office expenses

Carriage inward

Carriage outward

Advertising

Traveller's wages

Primary packing cost

Packing cost for redistribution of finished product

Interest on the hire-purchase installments

22,000

10,000

3,000

2,000

s,000

12,000

3,000

1,000

2,000

Stock of finished goods as on 1.1.2023 was 1,000 units having a'total cost

of (54,000. The units manufactured during the month were 10,000 units and

the closing stock of finished goods at the end of the month was 2,00b units'

The company wants to have a profit of 25%o on cost. You are required to

prepare a cost sheet giving the cost and profit. (12)

2. (a) What do you mean by labour turnover? Discuss the different methods used

for calculating the labour turnoYer rate. (6)

(b) The Kisan Co. follows the policy of Economic Order Quantity for two

brands of lawn fertilisers: F1 and F2. The following relevant information is

collected from their cost records :

Fl (in <) F2 (in <)

Relevant Ordering Cost per Purchase Order I 200 I 400

Annual relevant carrying cost per bag 480 560

Total Cost of carrying and ordering per annum 48,000 44 800

P.T.O.
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(i) Compute the annual requirement and the economic order quantity for
Fl and F2.

(ii) If the minimum lot size to be supplied by the supplier is 200 bags

of fertiliser Fl., what is the extra cost the company has to incur
annually? 02)

OR

(a) Discuss the suitability of FIFO and LIFo methods of pricing of material
issues in the periods of steadily rising prices and steadily falling prices.

(6)

(b) ABC Co. provides the following emoluments and benefits to its employee
,2,:

Salary t250 per month

Dearness Allowance

On l* tl00 of salary {400

On next t 100 of salary t 100

On balance of every ( 100 {50 or part thereof

Employer's contribution

- to Provident Fund 8% of salary and D.A.

- to ESI 4o/o of salary and D.A.

Bonus 20Yo of salary and D.A.

Other allowances 72,725 per anntm
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Z *ort. for 2,200 hours per annum, out of which 200 hours -are non-

productive but treated as normal idle time. Z worked for 20 effective hours

on Job no. 15 where the cost of direct materials equals Z's earnings and the

overheads are charged at (5 per hour. The sale value ofjob is quoted to

earn a profit of zoyo on such value. You are required to compute :

(i) Effective hourly cost of Z, and

(ii) Expected Sale value ofJob no. 15. (12)

The New Enterprises Ltd. has three production departrnents A, B and C aod two

service departments, D and E. The following figures are exfiacted from the records

of the company: '

t

Rent and Rates 5,000

General Lighting

Indirect Wages 1,500

Power 1,500

Depreciation of machinery 10,000

General Overheads 10,000

3

600

The following further details are available:

P.T.O.
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Total A B C D E

Floor Space (sq. ft)

Light Poine

Direct wages (t)
H.P. of machines

Machinery value (Q

Working Hours

lqooo

60

10,000

150

2,50,NO

2,000

IO

3,000

60

60,000

6226

2,500

l5

2,000

30

80,000

4028

3,000

20

3,000

50

1,00,000

4W

2,000

l0

1,500

10

5,000 5,000

500

5

500

General overheads are to be distributed on the basis of direct wages.
The expenses of D and E are reapportioned as follows :

A B C D E

D

E

2OYo

40o/o

30yo

20o/o

40o/o

30o/o 10o/o

lOo/o

You are required to prepare the statements showing :

(i) Allocation and apportionment ofoverheads

(ii) Reapportionment of service department's overheads following simultaneous

equation method.

Also compute the hourly rates of overhead absorption for the three production

departments. ( 18)

OR

(a) Why do under or over absorption of production overheads arise? How is it
treated in cost accounts? (6)



(i) Budgeted working hours are 8 hours per day for 300 days' This includes

400 hours for plant maintenance and 200 hours for setting up.

(ii) Electricity used by the machine is l5 units per hour at a cost of {2 per

unit. No current is drawn during maintenance and setting up.

(iii) The machine requires special oil for heating which is replaced once in

every month at a cost of t2,500 on each occasion.

(iv) Estimated cost of maintenance of the machine is {500 per week of 6

working days.

(v) 3 operators control the operations ofthe entire battery of6 machines

and the average wages per operator amounts to (450 per week plus

40o/o fringe benefits.

(vi) Departmental overheads allocated to the operations during the last

year was {60,000. During the current year it is estimated that there

wil'l be an increase of 12.5%o of this amount.

Compute comprehensive machine hour rate assuming setting up time is

productive. (12)

P.T.O,
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(b) A manufacturing unit has added a new machine to its fleet offivc existing

machines. The total cost of purchase and installation of the machine is

<7,50,000. The machiire has an estimated life of l5 years and is expected

to realise (30,000 as scrap at the end of its working life. Other relevant

data are as follows :
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4. A product passes through three separate processes namely A, B and C for

completion. 20,000 units were issued to Process A in the beginning of month at

a cost of (8,000. The other particulars were as follows :

Particulars Process A Process B Process C

Sundry Materials (t) 6,000 7 500 6 500

Direct Labour (Q 4 000 7 500 4,5&

Manufacturing Expenses (t) 1,620 2,836 2 000

% of Normal Scrap ao/
5o/o l0o/o

Scrap value per 100 units (t) 5 20 10

Actual Output (units) 19,600 18 400 16,700

ln each case, the percentage of scrap is computed on the number of units entering

in the process concerned. There were no opening or closing stocks of work-in-

progress.

You are required to prepare Process Accounts as well as other relevant

accounts. (18)

OR

A company undertook a contract for construction ofa large building complex.

The construction work commenced on I'tApril, 2023 arrd, the following data are

available for the year ended on 3l"tMarch, 20X4 :
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(figure in t' 000)

Contract price 3 5,000

Progress Payment received (being 7 5"/o of work certified) I 5,000

Material issued to site 7,500

Planning and Estimating costs 1,000

Direct wages paid 4,000

Plant Hire charges 1,750

Wage related costs 500

Site Office costs 678

Head Office Expenst:s apportioned 375

Direct Expenses incu rred 902

Work not certified 149

The contractors own a plant (o:riginally costing (20 lakhs) which has been

continuously used in th is contract throughout the year. The residual value ofplant

after 5 years of life is expectr:d to be t5 lakhs. Straight Line method of

depreciation is in use.

Materials costing (2,50r,000 was found unsuitable and thus returned from site. It

was sold for t2,30,000,. As on 31" March, 20X4 direct wages due and payable

amounted to <2,70,000 i rnd the ma,terials lying at site were estimated at t2,00,000.

You are required to pt'epare the contract account for the year ended on 31"t

March, 2024 and show the relevant balance sheet entries also. ( I 8)

P.T.O.

9
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5. (a)

10

A manufacturing company follows non-integral sJxstem of accounting. For the

year ended on 3l"r March, 2024, the net profits of the company stood at

{5,000 as per financial records. The cost books however showed a net loss

of 74,200 for the same period. A careful scrutiny of the figures from both

the set ofbooks revealed the following: (

Income tax provided in financial books 4,000

Bank interest credited only in financial books 2,500

Works overhead under-recovered in cost books 2,700

Depreciation charged in financial books 6,000

Depreciation charged in cost books 8,000

Offi ce and Administration overheads over-recovered l,850

Loss due to obsolescence charged in financial books 1,800

Interest on investments not included in cost accounts 12,400

Stores adjustments credited in financial books

Loss due to depreciation in stock values charged in financial books 1,350

You are required to prepare a reconciliation statement as on 3l'r March,

2024. (9)

(b) Deluxe Transport Company has got a permit to run a bus between two

towns which are 20 kms apart. The bus costs the company a sum of
?1,00,000 and is likely to last for 5 years without any scrap value. It has

been insured at 3o/o p.a. and the annual tax will amount to (2,000.

300
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The salaries of driver and conductor will be (300 p.m. and tiOO p.m.

respectively in addition to li%i of takings as commission (to be shared

equally by both). Manager's salary is t700 p.m., petrol and oil will cost {50

per 100 kms and the cost of stationery will be tl00 p.m.

The bus will run on average for 25 days in a month and make 3 round trips

per day carrying on an average 40 passengers on each trip. Assuming l5%

profits on takings, calculate the bus fare to be charged from each passenger

per km. (9)

OR

(a) A factory which usesjob costing has estimated the following expenditure for

the upcoming year :

t

Direct Materials I,00,000

Direct Wages 3,00,000

Direct Expenses 25,000

Work Overheads 75,000

Administration Overheads 1,50,000

Selling and Distribution Overheads 2,50,000

Work overheads are charged as a o/o of direct labour cost while administration

overheads as well as selling and distribution overheads are recovered as oZ

of works cost. A work order no. 108 has to be executed in the above period

and the following expenses are estimated :

P.T.O.
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Direct Materials

t2

?26,000

t78,000

(6,500

Direct Wages

Direct Expenses

Calculate cost ofthe work order tro.108 and the price to be quoted so as

to earn a profit of l0% on sales. (9)

(b) 'Non-integrated ac,counting is one of the systems of cost control accounting

to keep cost books." Explain.

Also, journalise the following transactions in the cost books of a company

following non-inte grated accounting :

(i) Materials prrrchased on credit

(ii) Wages paid

(iii) Material issued to production

(iv) Work Ovel:heads charged to production (e)

(c,,) 'cm. c& drrrd cqr& d ilrrd f{utrur i crs-ilq arrre Rrraq vt S {crl
qrt iqr qftgr ' {fi rr{Fr rR M dFusr (c)

I.
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(e) "arrr-& 6] T{d eER *{ vstm * q.*<I fr ilq{q-6-drfl} + s-driR frFr;r

<fld + qft'f( frcr RI ftfiaT tt' Rfrq Bfuit + ftq flqsqm qfffi'{or

* yqrrrq t* Es E€ q'qa q) eq dfrrq *( dd dfrcr (tz)

3rc:rqt

(c.) arrn ffi qk ffi{ fu*.{ * *q 3e ril( s-dts str H€ dfrcr

(c)

(rr) ffika A-+<q xyz lta. t arn frmt€ + qrq fts rs l:

(

r u-+sft, zozs d q-tt qm w dq, 1,50,000

sr wret, zozs d q-" wa q,t do 1,80,000

cilH Ttr(t 80,000

umau rult 6,000

r v+sft, zozs d aq or4 56,000

3r w{st, zozs fr} wq o,r{ 70,000

q-.i qra * ctq 1,60,000

ffi 6I futr{n, d *{ ffi s0,000

td" *r qffi ql Tq-dr€ 7,000

ffi w ymr< (rerct w) 25,000

10,000

Fflur

ng{rr dfq rRftfu vt EflI qc

P.T.O.
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mfr{ ft xtTRTfrdE E[€r:

Tflr{r Iffifr 22,OOO

qrqrjq sfr-{ aTq r0,000

flrd(fi, gilr€ 3,000

vr++ gar{ 2,000

fnrq-+ 5,000

iqm d ffi(t r2,000

crqkm' EEtu * arrra 3,000

iqn vtqrc + 5-{fi-firr * frs iBt Erqd 1,000

Emr €t-{ frrd trt qrm 2,000

r.r.zoze d *qn qra qr rdo. rpoo 1fre qr, furff qa arrrc tsa,ooo ftr

rr&* I ro,ooo {B-a en trq frqr rrqr cr sk Te+ + wc t tcn crd

qr ffic rdq. z,ooo tfrc vtr 6ffi d ttrkT rR 25% Hrq yp6 6"rn il
srrd i{Fril *t mrT d Esft ES \m.drrrfl rte fuR q',r+ *r (rz)

(m) xfro. sr{f, 6r er 14 +dr *? ryR-o irrTf, rt * rprcr + ftc E*fla

* wffi Rtu{ EM cr d dRsr (o)

(e) fr.rrr 6ffi sfri + T{6} + + dls: Fl *r F2 A frc srF[6 #& qrdr

d ffR 16r rrriFr qrft *r Br+ arrrd tqf€ + ffikr yrsm' utT*rt

c6" * rr{ ?:

2.
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Fl (r if) F2 e+)
q-efi s$d BfiSt 61 €tilsd ef& rTrrrd 7,ZOO 1,400

sfr arr ofito qr$Fro T€rT.r <rFrd 480 560

qfr E{ qsrs sirt efr€{ o-{i a1 g.s oPTd 48,OOO 44,800

(D Fl *r rz d frs qrffio- flr<{q6-dr ft nfif*- sf€t qnr * :r,qnr

dftqt

(iD qe il{ffi ,n p1 3-{m + f,rfffi fuc il+ qr} ;Eril{ de 6r

flr6'R 200 ftr i, d] 6tfr d qfilq. srsn 'rt ffi irRRffi flFrd

c-fift? (rz )

3I?ItTI

(o) ftn w i qrft Et ft tu w t ffi gi *q+- fr ffiE { qrqfr utt

ot* * ts frrrftE + fts ssflr€sr.n] (FIFo) *{ war{rr* (lIro)

frfud d ocgffidr ct qd dfrsr (o)

(€) ABC ffi i{c+ o-{qrft 'z' o1 ffifra +<.{ dr am v-qr< e.tff

i'

P.T.O.
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z qro + 2,200 st rnr{ ?fiirff t, ffi t zoo * tt-vqrm'i+; efr-{

E* rrnrrq fffuq ffic * rq i rFtr vrflT *r z i dfs {gt rs vt zo yqr&

rA 6rc frq, q51*a qrcm d mm z fr 6qr{ * cr{r f *( mq(
rs rfr rE d q( + 

"rd 
frs urt lr tfis + frfr 1u d t* Tq vr

20% ilq 6cI+ + ftv wgd fuqr rrqr tr iflTfr1 ffikr rpm e,,r* *:

(i) z * eqr& ch qa ffirr, utr

+ilr <zso cR cr6

qrqr€ qtn

tc{ + y6e ?too rR {400

+rrr + irr+ trco rR tl00

*{ is si y*c. rroo yr rsoqr;ctH*wi

ffimr 51 ffird:T

-uRwP4* +tr{ *( rrrn{ q; * r"o

-frftn€ + fts +ir{ ft rff vi qr ax

+{€ +fi ft cff q-i qt 20%

sruq ri 12,725 qrF[6'

(ii) ifrs s{qr rs m rtrtfi-r G-fr aa (:z )
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3. 1\z{cr{+fr frR}s + q( *{ sflrfi Er{r{T A, B *i C *r + +{ Fqr.r,

D qt( E tr ffika il* ffi + ffi'€ i yrw fts rrs €:

fun{n ft A- 5,000

qrqq mEtrr 600

inrea rqt 1,500

't,500

qffi ql Trurr r0,000

rrrrtq dq€Es '10,000

ftqhk( tRffr flEr+rt rft grrtrer *,

sHFq dtqGg s+ rffir c-d-S + sTuR rR ftirRf, fucr ur<t *r

(

ffi

g'd A B C D E

qqf orer+

crfsto
1 0, 000 2,000 2.500 3 000 2,000 500

dr{cm-ic 60 t0 r5 20 l0 5

c-iqffqs{0G) 10,000 3 000 2,000 3,000 1,500 500

cstr{&'\rsfr' 150 60 30 50 10

qqfi-{6.rqil1n 2,50,000 60,000 80, 000 1,00,000 5,000 5 000

o-r{bsa 6226 4028 4066

D *r E * qq q) Brirg{R yrnur fr-qr rrqr i:

P.T.O.
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ffqqil ffi + ffifud s{t{r B:

(D ffiq{ 6l i[G?ir *t vqrwr

(ii) rncrq tfi-o.rur EE * qm isr fuTr{ + ffis a1 Siftffi{ dfrq,

{rq ff ft{ g.flr€{ ftqrfr + ftq Sst}s t-dfrqqr d vR Ecr st d {qcr

dfrqr (m)

3Te:rdt

(c') ltlrrt ffis d 6c qr uk6. tsfrsur d 3FF{ *fr *? c+ arril €rfr

+ dt 
"{tcr 

vrff l? (c)

(e) c6 ffi{Er E6r€ + qq+ SE +{qr cffat- + qr i \e. T{ cif{
til$ tr qftq d €t{ *t rqrr{r d Ea arrm <7,so,ooo il w qftt *
q1trh( scqlFrdr ilsfu rs s,{ t Bil{ E€d srAfudr s-qfu + {cFa A+ s(

E€+ {tc * w t <so,ooo rrkr Afr d sS{ *r rq crfr6.ta:it vqn

l,

6 eoa ffir 614 rA Ea 300 fril * frs yRRq e * il s{+

qzi{ rrs-rffi{ * fts aoo € uk *e-ac * fts zoo € urfi-d

*r



(ii) cfr d{r sqfrrr 6 "{ ft.jj rs lFe nfr EA i, ffi vrrm <z

cR $a il rq-rem ah *a-uq + Et{T 6}f frse qr ssftr qfi

fuqr rrqr *r

(iii) FE qih{ + frc r{ qit* + fts fric +fi d ilrsrrq-dr Afr *, frrt

rt cth+ tz,soo d Emtr rR rt irr qftr ur<r *r

(iv) qftr 6 qrqc * il-{flRr arrre c qnorfr e+ + ftc yR vqra

tsoo tr

(v) s eilQa o qftc] * $ ffi + mrilJr 6] ffid 5r+ * sk

ffi SArt m utfid te< raso yft c<r6 +, ffi 40% rr* rrfrd

tr

(vi) M s{ rrqil{ + frC srdE( Eqrftc ffi{q {60,000 tr e-dqlr

s{ i E€ nfu { rz.sz fr gA * rqm+ *r

fu:Em qcc q] vflrqrE' isrrq rq+ Ec qq6,'qrtr € d tR d rrqar

dtusr (rz)

4. w'ssn d tt era t +qR A+ t frc ft{ imrr-rtrrr chqrdf, str e, s

att c * qreffi t nwc<r *rr et qfi+ fr Ersm + yfrlt R d te,ooo * arrrr

rR 2o,0oo Eq.r{d ilt d rr{ ffr rq vrrert frqEsR ff:

P.T.O.
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fud{lr qB'qIA qfuqrs gB-ErIc

frEqsrcfi<o 6,000 7,500 5,500

q-dlq rFI ({) 4,000 7,500 4,54

frMqoqq(r) 2,836 2,000

gvg;q$q6To7o 5o/o l0o/o

uhroo4ls6r&cTq G) 5 20 l0

smfu+.onscgc({fuo 19 600 18,.!00 16,700

u-+6 fire i, dq qr eRrrd * rsrfl &Ed yfrcr i ff+ qfr {frc m (@I

* srsn q{ * ur& *r urq cr{ i +S cRft-+, qt ffic rdm qfi tr

inq-61 shqr ertr st rq vrfra'€r+ AqR q,tt ir (ro )

3T9T'IT

t'5 offi t c6 G rs-{ qfrrt * ffir 6I aq,I ftqrr ffir qT{ t s}e, zozs

d qr Esr *t sr qd, zoxa c] qqrq d* sre s{ + wsBrd ftqRfuil }cr

g.r6wr i,
(fld r'ooo)

qeu cr 1u 35,000

xq lrlrfr Tq-drr (7s% a.r{ crtFrd dt -n) lsp00

qrre si vrt qffifi 7,soo

ilrdu-qr * ilrkr tnT sgcFr t,ooo

1,620
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5.

2t

rr€fl v-fler q-tr(t

{.r{ 6r qg

rw(t vft-o armr

rsr{E ffi'{ Hrrre

ts ffi{ qc rqlfr(

4,000

1,750

500

678

375

Y-dIEI EFT TT{I 902

ilncrFrd ql4 149

(2,so,ooo d arm qI+ {r{ff d vqrgffi rrr.[ iErr flk E(Fds qr{c t qlq( frqr

rrqrr E* ?2,30,000 i i-qr rrqrr 31 q;{, 2oxl ir6' naTq c-s$ qi fr *q str

nl-tm mr* +q A, t2,70,000 { st {r{c w v.S <rcfr rfir {er tz,oo,o0o ErrrFlr

wll $iltr{i 3r ar{, 2s24 d mr< s{ + frs qcu enr tqn e''r<r e *( red
+t( fl-. nEM rfr s$tfr *r (to)

(c,) vo' frMvr Effi ft-\*gn terot yunfi rrr rtnFT cr& tr sr r{, zoza

d rrm< c{ + frs, qffi qT ge ilrr fr*{ ffi'€ t rgwt <s,ooo

qlIr rrafr', Trxl6.{ +€r qfi + Eft ffiB + frg ta,zoo tr {.a sra

furqr tr a+- A{il se + ffi d ussnsrT$r urrq * qrq ffifur <rqi

Sttql

P,T.O,

++{i[ + crt r'ir'rrq" t (ftrsfr Tr mrfr {20 arGr *) frRr6r w qeu d

$ <{ wran sc+rr ftet rm it tn? fi s q{ * sc&fudr rsfu * cre

fi reftte {f,r ts arq i+ d s+€ *r frfr ter Efu + td{dfitr aFt frzn rrqr

ir
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ffiq +qr-q& + Jrr{fi q.T vrquFr 4,000

+q-d ffiq Aer-q& q qq1 fr<r rrqr io qrq 2,500

arrrc qfi i q.14 ffis * fi aqe d T{ 2,700

ffiq +€r c& t nnRa Wmm 6,000

arrn *er c& t yl{rRf, {s6m 8,000

dfu'{ ft mr(ftt. ffis sfu+. <qa fuv w r,850

ffic +€r e& t qn+o-t + q'nq Eq a6'flT 6] nqrfrd ftqr rrq r,eoo

arrrc rsrfr + urkd {& ftg IIg ffarr rR drM 12,400

{ffiq +€r ce + *r qqr+ffi vqr frs rts s00

ft-Sq +er q& + do' ad + Tgtm * onur gi ErR 1,350

vrqd sr qd, zozl d F{R * qun 9.5'inrsm furur fun dfrsr
" (c)

(e) *** qffi€ ffi d a nEt + +q qt qnr+ * rdcfr ftff l, * zo

frr*+{r gr *r affi d m d ilmiT (r,o0,o0o srft t *( Ftr+ G-{r frnfr

dc +q t s q,it nc. wi d {rilT{r ir c+ sz yfr s{ + sr€rR rR

ffkd frqr :rqr * st clfifqr 6( tz,ooo *rnr

qrrq, sk qRsrdro qT irr irer: <soo cR qrs *r rzoo ch qr6 *{r,

Eq+ irdril crn6 c,t rc"/" 6"fiwr (* fi * frs <trt w t wgr frqr

uwrn)r **wt fr ffi <zoo vR rm *, tfr st( +d d arrm <so cfr

roo m * *( ffi d mrn iloo cR qr6 *r

I
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inr V.h' rn6 + stfrfi 2s B{ qfuft ft nft Rr 3 irn zil-{ qtft,.ftrq+

*sa-{ ao crft v-dq' qrer i *tr srn vrFrfr rR rs% olrrr qr+ ftqr vrg,

+ cR ffifi-cr q+q. q* t qt qr-sr ffi rtfu ftqr qrgrr lrrff {qrql

dfrsr (c)

3T9T'II

(m.) qm qrern S ds Hr5rfr qr sc+{ qm i, + flrrlr+ s{ + fds ffike
F{ aT qprr FrrrF[ ts:

t

y-ser rgr.rft 1,00,000

rsq rq-sfr 3,00,000

ITflTtII ETq 25,000

R-S ft fi-nur ffiW 2,50,000

q,14 ffiw d rew ,ir.t lnrkt + vfdrm * w { vqtRa frqr urm *,

wsfr mr{R-6' ffi{€ ft R-fi flk ft-ilr"r ffi$ d. qr4 arrra + nR{m

* qq t qqil wdr;, qe. 614 m& rrer roe d irctffi rqfr $ Xn frqt

vnr t *r ffifuc arr 6r stiFlrr mrqt wt t:

6r{ ffi{€
nfl1qfu ffi{€

rsa qrrff t26,ooo

y-eq rqt tTspoo

Irdret aFr t6,500

614 #tr rs@I ros 6 nrrm fr rrur<r dRs sk fi-ff ci
q'A + ftr v{t fr lll+ sr& *Td ftaRt dFqqt

75,000

r,50,000

lo% drq ilfriil
(e)

P.T.O.
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(<) "urre cfr d rttq..la+
* rqnfrrfr i i sfr' *r'

qq ftv rt-g*fil termr aFril ffidur +tsl6,r

E1 qs dBvr

qrq ff, vc. W qffi d arre qfi { ffitur R;r * nEfu dftls
v] t(-ffitn ffin w qrff{ 6rff t:

11vm i cm T€ <r{ft

1i1 u-ra ru1ft

(iii) iricrfi * urt d !r{ <rqfr

(iv) vflnm d yqrfril 6.14 ffiq( (c)

( 1 2000)


